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What 1s the number of men working in the Marketing department?

forqureT fore T H shTaid Qe <hl € fohet 22
(a) 462 (b) 454 (c) 418 (d) 424 (e) None of these @ @ .
(40

Degree Wise Break-up of Employees Working in Various
Departments of an Organization and
the ratio of Men to Women

Respective Ratio of Men to Women in each Department

Accounts

50.4° Production
136.8° Department Men | Women
ME‘?rg .Ezti‘ng Production 4 ]
HR 12 13
IT 7 3
Marketing 3 2
Accounts 6 7

Total number of employees = 3250




What is the respective ratio of the number of women working in the HR department
to the number of men working in the IT department?

HIAS HHTYA TWTT § ST AiEeTretl shl HEaT st ATgET forWiT § Shied &uT shi 6T
| Haterd Aqara feraam 22 @g@@

(a) 11:12 (b) 17:29 (c¢) 13:28 (d) 12:35 (e) None of these

Degree Wise Break-up of Employees Working in Various
Departments of an Organization and
the ratio of Men to Women

Respective Ratio of Men to Women in each Department

Accounts

50.4° Production
136.8° Department Men | Women
Ma?rg .Ezti‘ng Production 4 ]
HR 12 13
IT 7 3
Marketing 3 2
Accounts 6 7

Total number of employees =3250




The number of men working in the production department of the organization forms
what per cent of the total number of employees working in that department?

TS o IcUTE TTHRT H ST GEUT hl HEAT 38 ForvmT # sh1ERa shHATRAr shl el St
T TeRamT TferoTa 82

(a) 88% (b) 90% (c) 80% (d) 65% (e) None of these @ g @@

Degree Wise Break-up of Employees Working in Various
Departments of an Organization and
the ratio of Men to Women

Respective Ratio of Men to Women in each Department

Accounts

50.4° Production
136.8° Department Men | Women
M?r'rg .Eztlng Production 4 ]
HR 12 13
IT 7 3
Marketing 3 2
Accounts 6 7

Total number of employees = 3250




The number of women working in the IT department of the organization forms what per cent of the

total number of employees in the organization from all departments together?

TS o ATZS! T | hTERa Algertatl sl G, adl fawnm & et @rer & wuetial 6t oot

AT T foRaT atavra 22
Q040

(a) 3.2% (b) 4.8% (¢) 6.3% (d) 5.6% (e) None of these

Degree Wise Break-up of Employees Working in Various
Departments of an Organization and
the ratio of Men to Women

Respective Ratio of Men to Women in each Department

Accounts

50.4° Production
136.8° Department Men | Women
ME‘?rg .Ezti‘ng Production 4 ]
HR 12 13
IT 7 3
Marketing 3 2
Accounts 6 7

Total number of employees = 3250




What is the total number of men working in the organization?
TS H hTH HE TT T chl het HEAT fehat 22
(a) 2198 (b) 2147 (¢) 2073 (d) 2236 (e) None of these
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Degree Wise Break-up of Employees Working in Various
Departments of an Organization and
the ratio of Men to Women

Respective Ratio of Men to Women in each Department

Accounts

50.4° Production
136.8° Department Men | Women
ME‘?rg .Ezti‘ng Production 4 ]
HR 12 13
IT 7 3
Marketing 3 2
Accounts 6 7

Total number of employees = 3250




Directions: The given line graph shows the number of total application applied for the post of
professor in four colleges. The table shows the percentage of rejected application by colleges.

eI T AT ATh =R Hicrsil § HER 6 99 o6 fofQ 3ATeeT ohT T el STTeIeHT shl ST Sl SR1IAT 8
dTfeTehT ehictsIl ST TEallehd STTAGHT skl TfdeTd SRIIdT 2|
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In accepted application by college A 33 % % are applied by females. Then accepted
application applied by male in college A is what percent of total accepted
application by college D.

afe Sidst A gRT TWipd fHT 1T smaeT # A 3329 Afearsil gRT smae fear mar gl
dl Bidasl A O Q=4I gIRT 3Tded fhd 7TE Tdiepd 3Tded, Hldasl D gRT Wigpd fhT e
Fd TASl pT fhaaTufa=a g 2

a) 75% b)70% c) 120% d)60% e) 80% ma@
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Find the average number of accepted application by all these 4 colleges.
£ W 4 e grRT it (3 e Bt st e T Fne|

a) 19350 b)18400 c) 18840 d)20050 e) 17900
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Among accepted application by college B and C the ratio of male to female
applicant are 10 : 11 and 8 : 9 respectively. Then find the ratio of accepted

application applied by female in college B to accepted application applied by
male in college C.

PIAS B 3R Pidsl € gRT Wipd fPT T e A A [V 3MAcH! &1 Afgarsii I
thrgm 10 : 11 3R 8 : 9 31 Pl B H Afgemail gRT sde f6d ¢ wWipa
&1 HIdd C H =Yl gRT Tde fHT T Wpd Tde | JUTd JTd DITeig|

@M@@ a)12:13b)27:29¢c)15:11d)9:17 e) 11 : 14
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Rejected application by college C is what percent of rejected application by
college B and D together.

Plee C gRT GRS fPT T 1Al B YW, Bidol B 3R D gRT fHars: @iivs
f¥u e smaenl o1 fra ufa=a & 2

a) 100% b)80% c) 124% d)72% e) 125%
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Find difference of rejected application by college B and College D
&n%‘d &

Hictol B 3R Pl D §RT fog

a) 1560 b)2200 c) 2016 d)2370 e) 2400
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The number of seats in a cinema hall is increased
by 25%. The cost of each ticket is also increased
by 10%. The effect of these changes on the reve-
nue collection will be an increase of

fordt fomm 2t ot Tl &1 §& | 25% & gig &l TS|

! !

gish feshe o Hod H A1 10% ki gfg T &1 TR 3

— r

qfadHl & URomHSERY f9H1 8fd 9 9r< 81 ol 3
4 gfg -
(1) 37.5% (2) 45.5% (3) 47.5% (4) 49.5%

N




Two inlet pipes can fill a cistern in 20 and 24
hours respectively and an outlet pipe can empty
160 gallons of water per hour. All the three pipes
working together can {fill the empty cistern in 40
hours. What is the capacity (in gallons) of the
tank?

€ o1 Wk THh! ! ShHY: 20 T 24 5 H 9 Fhd ©
3N T T a1 Th He H 160 e 9 @relt Y
Tohdl Bl Th Y i 9 @rell 21 i 40 =2 | R
Gohd B TR I Gl (o °) fwat 872

(1) 1200 (2) 2400 (3) 3600  (4) 1800




The ages of A and B are in the ratio 5 : 7. Five

years ago, their ages were in the ratio 5 : 8. The
respective present ages (in years) are:

AT BT 3G 1 ST 5: 7 81 5 I8 Ugct STt T
%1 I 5 : 8 ol IAH! daqH g B (I H)
(1) 10, 14 (2) 20,28 (3)25,40 (4) 15,21




There are two containers of equal capacity. The
ratio of milk to water in the first container is 3 :
1, in the second container 5 : 2. If they are mixed
up, the ratio of milk to water in the mixture will be
O &7l o S e 81 T8l § g8 3R T i I
3:1% ARNTN A 5: 27 3k =% fogen e ww =
fagor o gy 3R UM 1 9 fhaT @ S 2
(1)28:41 (2)41:28 (3)15:41 (4)41:15




